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TREZ A 2 (A) 0.25 (B) 0.36 (C) 0.41 (D) 0.45
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) L/4 > %A 2 (A) 1/12 (B) 1/3 (C) 5/24 (D) 7/48  ML?

Argon JF-FHYE RS 39.948g - ELAIRHEGH B 8.31 J/mol K - /1 FiEE 25°C
¥ Argon Y f154R (root-mean-square il =K %K ? (A) 430 (B) 125 (C) 250 (D) 14 m/s
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C B)EHER (A) 1:3 (B) 1:9 (C) 3:1 (D) 9:1

EL4N permeability B84 u, = 47 x107 T-m/A » — (AR BIE IR (solenoid )
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BRESOGHES 3x10° m/s » —{HEAERS 2.45 MeV (B CEE  9.1x107 kg » BE ¢

- 1.6x107° C) HEEESL A 2 (A) 2.96 (B) 2.50 (C) 3.02 (D) 3.42 MeV
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(A)Constant volume : FEZ (B)Isothermal : &8 (C)Adiabatic : EE (D)Closed
cycle : IR
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